Lecture 16 - Nov. 5
Bridge Controller

Invariant Establishment
Deadlock Freedom



Announcements/Reminders

e ProgTest2 tomorrow



Initializing_the System

Analogy to Induction: Analogy to Induction:
Base Cases = Esfabllshlnq Invarlan’rs Inductive Cases = Preserving Invariants

10 Yl? (ﬂ{ YOS} ,{/\?&. FC_.Q)@?Z'_'FJ) [ML_out

The Initialization Event
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Discharging PO of Invariant Establishment
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po Ru le: Dead IOCK Frele dom REQ4 Once started, the system should work for ever.
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Example Inference Rules | Jf»
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Discharging PO of DLF: First Attempt
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